
200 N is the non-conservative 
force that is not included in the 
above force potential. 

= (T2 + V 2) – (T1 + V 1)Fn dr∫
1

2
Hence, Fn = 200 N in the energy equation:

Gravity-force potential

V = mAg yA+mBg yB
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Fn = 200 N is the non-conservative 
force that does positive work

Gravity potential

∆V = mAg ∆yA+mBg ∆yB

∆yA= -1.6 sin 20o < 0

∆yB = +0.8 sin 70o > 0

1.6 m

0.8m



Assume now block A moves upward

Gravity potential

∆V = mAg ∆yA+mBg ∆yB

∆yA= +1.6 sin 20o > 0

∆yB = -0.8 sin 70o < 0

Fn = 200 N become the non-conservative 
force that does negative work

1.6 m

0.8m

= (T2 + V 2) – (T1 + V 1)Fn dr∫
1

2


